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The interest paid in the first year:

The beginning principal of the second year

‘3\4(:

The ending principal of the third year:

b |



The present value of a $33,000 perpetuity assuming an
opportunity cost of 8% is

O a. $412,500
O b. $33,000
® c. $2640

O d. $4,125,000

Clear my choice
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S b ’Income from both forrns of orgonizoﬁons Is double-i;_ Lol
O

c. Ina pon‘nershlp partners have unlimited llobiln‘y

whereas, in a sole proprietorship, the owner has
limited liability.

O d. In both forms, owners have unlimited liability.

Clear my choice




Zara Inc., had sales totaling $10000000 in fiscal year 2020.
Some ratios for the company are listed below. Use this
information to calculate the dollar values of different income
statement and balance sheet accounts.

Zara Inc.

Year ended December 31, 2020
Gross profit margin 0.8
Operating Profit margin 0.4
Net profit margin 0.09
Debl ratio 0.35
Current ratio 1
Total asset turnover 1
r\veraga collection period 60

What is the company's gross profit?

8000000

What is the company's cost of goods sold?

IZDOOOOO

What is the company's operating profit?

|4000000

What is the company's operating expenses?

|4000000

What is the company's eamings available for common
stockholders?

900000

What is the company's tolal assets?

l1 0000000




Which of the following is a cash outflow?

O a. an increase in fixed asset
O b. anincrease in inventory
O c. adecrease in stock holdings in other firms

© d. anincrease in accounts payable

N84l



You have been offered an investment opportunity
that pays $500 at the end of the first year, $700 at
the end of the second year, and $200 at the end of
the third and fourth years. What is the maximum
amount of money you would pay to invest in this
opportunity, given a rate of return of 6 percent?

O a. $500
O b. $1262.619
O c. $1421.03

O d. $1389.02



Ford Motor Company has just ended the calendar
year, making a sale in the amount of $55,000,000.
The company collected 30% of the sale amount in
cash during the year. Ford's costs totaled
$12,000,000; the company paid 40% of the cost in
cash during the year. The net profit and cash flow
from this sale for the year are:

O a. $16,500,000 and $43,000,000, respectively
O b. $11,700,000 and $43,000,000, respectively
O c. $43,000,000 and $11,700,000, respectively

O d. $43,000,0000 and $43,000,000,
respectively



=1 .
The present value of a $33,000 perpetuity assuming an :
opportunity cost of 8%is .

-
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O d. corporations

Clear my choice
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You have been offered an investment opportunity that pays
$500 at the end of the first year, $700 at the end of the

second year, and $200 at the end of the third and fourth
vears. What is the maximum amount of money you would

pay to invest in this opportunity, given a rate of return of 6
percente

O a. $1262.619
® b. $1421.03
O c. $1389.02
() d. $500



| Time left 1:11:45 ]

annual installments.

Answer the following:
The loan Payment in the second year:
0557

The interest paid in ihe first year:

500

The beginning principal of the second year

166]

O~

The ending principal of the third year:

~ 7Y

’ /
-
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You have lent your friend $8000. Your friend offers you the following instead of
paying the $8000 now.

End of year iCosh flow
| 3100
i
3114 . I_h‘ lididitsit 18749 !

2 2000
TR 1600 |
|4 200

iNQt

Write 1 in the bic c







In April, a firm had an ending cash balance
of 8.3. In May, the firm had total cash
receipts of 4.5 and total cash
disbursements of 2.7. The minimum cash
balance required by the firm is 4.4. At the
end of May, the firm had

Answer:



Determine the future value at the end of the
final year if the below deposits are made at
the beginning of each year into an account

paying annual interest of 6%.

|Beginning of year Cash flow
1 19,000

2 9,800

3 32,000

Answer:
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whcf is ’the inferest paid in the first month?2

l 1020 ,..,

what is the principal paid in the first month?

,359.40

what is the interest paid in the second month?

,lOl7.3O

what is the principal paid in the second month?

,362. 10

what is the total interest that was paid over the life of the
loan?

|122292 ol




compoundlng at 0.05 percent for 12years,
1ho approxlmote future value of a 15000 Initial
ent?






f‘Ari*onolysis' /sis manager must choose between four Assefs: A
B. D and E. Each asset costs $40,000 and is expectled to

provide eamings over a three-year period as described
below.

Asset Yearl Year2  Yeard
Asset 1 S21,000  SI5000  S6000
Asset 2 9.000 15000 21,000
Asset 3 3,000 20,000 19000
Asset 4 6000 12,000 12000

Based on the wealth maximization goal, the financial
manager would choose _

Select one:

® a. Asset 2
) b. Asset 4
C. Asset 3

d. Assel |

Clegr my choice
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O b. Technical analysis R
O c. Time-series analysis
O d. Benchmarking

Clear my choice






Chris Columbus bought a house for 350000. He put
0.1 down payment and obtained an interest
amortized loan for the balance at 0.12annually
interest for 30 years. The loan is paid monthly.

WHAT IS THE PERIODIC PAYMENT ?

WHAT IS THE INTERST IN THE FIRST PERIOD

WHAT IS THE PRINCIPLE IN THE SECOND
YEAR

WHAT IS THE BOOK VALUE IN THE SECONF
PERIOD

WHAT IS THE TOTAL INTEREST




With monthly compounding at 0.05 percent
for 20years, what is the approximate future
value of a 10000 initial investment?

what is the approximate future value of a
10000 initial investment?



An annual interest rate of 22% compounded
quarterly. What is an effective annual rate?

Select one:
O a.22.88%

O b. 23%
O c.23.88%
O d. 24.88%

Clear my choice







Suppose that you invest $ 1000 per month in a saving
account for the next 15 years which eams 0.1 per year;

what is the value of the investment today?

——
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Time left 1:11

ARP is interested in predicting its income siatement for the year 2021. The
company estimates that its sales in 2021 will be $5500000. Using the fixed and

variable cost dota, Find the following:

A&P Company
Income statement

For the Year Ended December 31, 2020

Sales 2000000

Less: Cost of goods sold
Variable cost 1450000
Fixed cost 10000
540000

Gross profit

Less: Operating ex por\se"

Selliho e:-tpense (L var ob'e‘ 20000

LLJ+ h* / ‘—’ (3;"—7":' ‘\_;[ \:3’::::36‘ \.‘J’K_/J
I~ SRR BT S R L '\—;
Depreciation expense(all vanabie 00 |
|
SLu , ]
Operating pr 480000 |
p< a'a’a ..
LS nierest expe B eC 200U |
| 7 =
Net profit beltore = 468000




\Less: Inferest expense (all ﬁxed) ‘

&l Time loft 1:10:33

ELNALY; ~

lNe’f profit before taxes 468000, 7 g
lLess: Taxes (10%) 46800
@et profit after taxes 421200

A&P's Total cost of goods sold in 2021 :’3345

A&P's Depreciation Expense in 2021:

A&P’s Net profit after taxes in 2021:
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~ cash ﬂow from investr nent acﬂvlﬂes of - $40,000, and cash.

l"-: ﬂow from financing activities of $15,000. The statement of
. cash flows would show a

. ) s !

O a. netincrease of $10,000 in cash and marketable
securities

® b. netincrease of $5,000 in cash and marketable
securities ' | |

O ¢. netdecrease of $5,000 in cash and marketable
securities

O d. net decrease of $10,000 in cash and marketable
securities

Cleor my choice
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O c. limited pahetshlps
O d. corporations

Clear my choice
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O a. profitability
O b. liguidity

Time-series



